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TREE  DAMAGE  EXPOSURE  VALUE  COMPONENTS
1) SEASONS  INFLUENCED

(tree growth periods impacted by site development activities)

full year  (GS1 + GS2 + SENC + DORM) = 25
dormant season  (DORM) =   1
full growing season  (GS1 + GS2 + SENC) = 24

first portion growing season  (GS1) = 12
second portion growing season  (GS2) =   9
senescence season  (SENC) =   3

2) SEASONAL  STARTING  PENALTY
(tree growrth period when construction began)

dormant season  (DORM) = 0
first portion growing season  (GS1) = 6
second portion growing season  (GS2) = 4
senescence season  (SENC) = 2

3) SEASONAL  ENDING  PENALTY
(tree growth period when construction ended)

dormant season  (DORM) = 0
first portion growing season  (GS1) = 6
second portion growing season  (GS2) = 0
senescence season  (SENC) = 0

4) MULTIPLE-YEAR  PENALTY  (number of dormant period lay-overs)

-- multiply the summed results of preceding three steps by (1.05years)

examples:  2 years = 1.052 = 1.10X;  3 years = 1.053 = 1.16X.

5) YOU  HAVE  NOW  COMPLETED  THE  FOLLOWING  FORMULA:

TREE  DAMAGE  EXPOSURE  VALUE  (points)  =
( SEASONS  INFLUENCED  NUMBER +
SEASONAL  STARTING  PENALTY  NUMBER +
SEASONAL  ENDING  PENALTY  NUMBER )   X
MULTIPLE-YEAR  PENALTY  FACTOR.
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Minimum  Tree  Recovery  Time
For  Each  Season  Impacted

(time duration runs concurrently)

-- Dormant Season (DORM)
= 1 year

-- Senescence Season (SENC)
= 2 years

-- Second Portion of Growing Season (GS2)
= 3 years plus time to end
of current growing season

-- First Portion of Growing Season (GS1)
= 3 years plus time to end of current growing

season for diffuse porous trees
OR

= 4 years plus time to end of current growing
season for ring porous / gymnosperm trees

TREE  DAMAGE  EXPOSURE  VALUE
=

( TOTAL  NUMBER  OF  SEASONS  INFLUENCED  +
SEASON  STARTED  +  SEASON  ENDED )

X    MULTIPLE  YEARS
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Example 1:
Construction began in GS1, ended in GS1 the following year (1 year
duration), and impacted 5 tree growth periods.
Tree Damage Exposure Value = 49.

Example 2:
Construction began in DORM, ended in DORM the following year (1
year duration), and impacted 5 tree growth periods.
Tree Damage Exposure Value = 26.

Result:
Beginning and ending site development activities one tree growth period
earlier saved major potential damage impacts on trees, althought the
duration of construction on-site was the same. Minimum recovery times
are estimated for oaks as 5+ years in example 1 and 4+ years in ex-
ample 2.  Note example 1 activities have much more tree / site damage
potential (~1.9 times greater) than example 2.


